o
N
X
N
(=]
&
o
N

%1073

8 . A :
© ) :
~ 0.15[ - HAl EHHEEHE - - 3 £0.150- b :
S ° ;
© 0. H d N v O01--- -
v : L8 E it : T :
0.08ff- -~ I ’ il B 0.05[ -+t {+-H} R (1B
ol---- le - ol " :
-0.05[----{If -0.05[---| {1t alis :
i : ?
_O.IH_... 4 - _O.JH_... : 3 -
*
-0.15f - itk -0.15 3
" 1AL R ER

_0.2||||i|h||v|?||||i||||i||||i||| _O-ZIII:.

A
3 1 i ¥ B i |

%2 -1 o0 1 2 3 %3 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

———

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO

—e— DQM_V0001_R000000001__Global_CMSSW_]| mkFltPUSOLothQuad RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoSC_REC!

—— DQM_V0001 _R000000001 _Global__CMSSW _LowptQnoDC RECO

glOC : ; ; ; KNIl glOC :
= Offt IR+t ; = Ol :
A . A N
? 60 ] S 60ft ;
o B : ol 1
v 40[t 3 -' v 40 :‘ 1]
20fH 1T 20 ¢
|
E i ~20f ’:
---------------------------- ¥ —40EJ; i
eedeeaaans [ L -60
----------------------------- —gofit "
A I e e 1 R ML e e oy BB
He T g—lOOH | | | | I
g 4 Eesaeass
| o :
- \t:g A 1B eI
il i
1

2 3 23 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<opyp, > ()

ill;
il

R -

o ¢
o _w
T
=t i
hocogograzo::

2 3
TP n (PCA to beamline)



	Contents
	Page 1


